INSTRUCTION
MANUAL

Flat Attachment For DP-100-M Type
MS-DP1-Fco

MJE-MSDP1F No.0101-61V

Panasonic

Thank you very much for purchasing Panasonic
products. Read this Instruction Manual carefully
and thoroughly for the correct and optimum use of
this product. Kindly keep this manual in a conve-
nient place for quick reference.

Kl MOUNTING

1. Decide the direction of this product to mount with
the sensor.

Pressure port Pressure port Pressure port
faces downward faces leftward faces rightward
Note: It is not possible to mount this product such that the

pressure port faces upward.

Incorrect

Pressure port
faces upward

2. Lead the connector of cable with connector
CN-14A-Cuo through a connector thru-hole of this
product, and plug it into the connector area of
the sensor.

Cable with connector
Connector thru-holes

3. Mount this product with the M3 female threads of
the sensor by using the attached M3 (length 8mm)
Screws.

The tightening torque should be 0.5N-m or less.
M3 female thread

M3 (length 8mm) screw
(Accessory)

4. Decide the direction to pull out the cable with con-
nector, and fit the cable in a side groove of this
product.

Cable with connector

5. Mount this product with the mounting surface by
using the attached M4 (length 20mm) screws.
The tightening torque should be 1.2N-m or less.

o =X
M M4 (length 20mm) screw
\(Accessory)
Note: Take care that if the cable with connector is sticking out of
the side groove of this product when mounting, the cable
may disconnected.

[ When dismounting the cable with connector |

1. Dismount this product from the sensor.
2. Pull out the connector while holding the release le-
ver of cable with connector.

Cable with connector
CN-14A-Co

Note: Take care that if the cable with connector is dismounted by
force, the cable may disconnected or the connector may
break.

H PIPING

e The tightening torque should be 1N-m or less
when connecting a coupling to the pressure port.

Pressure port

Coupling (Please arrange separately)

| MS-DP1-FR, MS-DP1-FE, and MS-DP1-FN |

e When connecting the coupling to the pressure port,
hold the pressure port with a 14mm spanner and
make sure that the tightening torque is 9.8N-m or
less.

In addition, in order to prevent any leakage, wind a
sealing tape on the coupling when connecting.

\_14mm spanner

Note: Do not tighten the pressure port by holding the product with
the spanner.
It may cause the product breakage.

El SPECIFICATIONS

Type| M5 Rc'ls Glls | NPT's
Item™.Model No. | MS-DP1-FM | MS-DP1FR | MS-DP1-FE | MS-DP1-FN

Rated pressure
range

Pressure
withstandability

Applicable fluid

—-0.1to +1.0MPa

1.5MPa

Non-corrosive gas

M5 Glls NPT/s
Pressure port female Rc'/s female female
screw screw screw

Enclosure: PBT (with glass fiber)

Material Pressure port: SUS303
O-ring: H-NBR
Weight Approx. 159 | Approx. 259 | Approx. 259 | Approx. 259
A . M3 (length 8mm) screw: 2 pcs.
ccessories

M4 (length 20mm) screw: 2 pcs.

I CAUTIONS
/\ WARNING

This product is designed for use with non-corro-
sive gas. It cannot be used for liquid or corrosive
gas.

e This product has been developed / produced for
industrial use.

e Make sure to mount this product with the sensor
properly. If it is not mounted properly, air leak-
age may occur.

e Take care that the excessive mounting and dis-
mounting of this product may cause deterioration
of the O-ring.

e |f you touch the O-ring of this product, or any
scratch or dust, etc. is attached to it, air leakage
may occur and the sensing performance may
deteriorate.

Take sufficient care when using and storing this
product.

e Avoid dust, dirt, and steam.

Take care that the sensor does not come in con-

tact with water, oil, grease, or organic solvents,

such as, thinner, etc.

Panasonic Industry Co., Ltd.
1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[Please visit our website for inquiries and about our sales network. |
Panasonic Industry Co., Ltd. 2024
April, 2024

PRINTED IN JAPAN



R #%

Panasonic
DP-100-M%2 4 7HISY RFRAYF AL b

MS-DP1-FL[]

IO NE, A F Y=y s B R EBE W
EFwimEE by n eI nFE T,
ZHEA ORI Z OBRSAELY L BRI |
ELL HERFETTHERL 2E80,

W, Z OB EII RIS LT IEEn,

Kl B Y {1
O ARG O 1A 2 kb £,

() e (e

GED : EAR—FEZLMEICLTRYMHTELETEEE

©@ axr 2t —7LCN-14A-COD =2 % 7 X ffl %
KGO ax 7 ZELRPHELT, Br¥D
Beet 2 % 7 ZIBICE LIARE T,
ary By —T L
CN-14A-CO

ARV ZBELR

@ B oOM3R U (F &8mm) # M L T, A& %
T M3HAL) ICEY i £,
ZOBEOFEDAT V21X, 0.5N-mBLF & LTL
7ZEW,

M343 C (& &8mm)
&)

@ aRxy B r—T N —T B X L%k
O, AKEEIEO X VIS — T L R ITDIARE
D

axry et
7=

® g dM42 U (& &20mm) 2461 LT, AfAH%L %
BftE B i £9,
ZTOBEOKEDAHT v 713, 1.2N-mELF & LTL
7230,

g

N
QD m
Q S
57
éig M443 C (& &20mm)
(FE)

CGED - a9 8 r—TUNKBGAED S VEA L FHH LT
4;%'65&;1#!16 &L BRI AEEANHYETOT, O
FELEEL,

[ax9 87— ERYSNTEE |

Qv o ARBBERD L ET,
@RI B —T DY A S 2N S %Y
AR EF EREET,

ARG A=
CN-14A-CcO

GE1) : a2 —TILEERBIZRYNT &, T—TILAEHR
LY, axI8HPWET 8T HYETOT, JF
BEEL.

(2 [0

o [ENAR— MIMETF AT 258 oMo v
Z1E, IN-mPLF & LTS 7ZE0y,

[ MS-DP1-FR., MS-DP1-FE. MS-DP1-FN |

o ENAR— MCMFLERT 2HAIE. FHR—F
[Z14mm AN F 2T THEE L, #iofHiT s
9.8N-mPL FTHY fFiF T 72E0y,
Flo, V=20V ESHFITFE I —NT 7%
BNVTHEEREL T 2&EW,

CGE1) - ABBRTRNFERIT T, EAR— FEFHOFFRNTL
EEW, ARGHAWETIEETALNHYES,

B 4
# #| M5B | RcsA | GUsE [NPTI4H
HE\_ E = £ | MS-DP1-FM | MS-DP1-FR | MS-DP1-FE | MS-DP1-FN
EREHEE — 0.1 ~+1.0MPa
it E A 1.5MPa
W A R K FEEERAE
. M5 Gls NPTV4
EAR= M gpe | R | pne | ont
KK PBT (H 5 R#HEA)
# g EAHHK— b : SUS303
0Y >4 : HNBR
" 8| #1159 | #1259 | #1259 | #4259
" = s M3#9l; (E&8mm) : 2K
M4t L (E £20mm) : 27

A EEER

AEE
AEFZIE, FEERRAEATT,. REPEERMESR
RICIE. FRATEFEEAS

o AHUG X, TBRETICMHMT 2 B CRI/HLE
SN,

o AU L Y AZTELSEY IFTLZEN,
ELLIThant=T7 ) =7 n"R LT 50
REMERH Y 9,

e WMEDMAEEITRVETE, OV I BE{LL
FTOT, TEELZIND,

o KELFE DOV v 7izfitni=n ., £ E, 23
RENMETLEZT V=7 BREAL, R
BANMETT52BZhAHY £, AKRGLOERY
PNB LIORE I, B THEELITESD,

o AR, AV EDL T TOMEMITHET TL
7ZE0,

o LU —Tp EOAMIRFIRe. K. L A
MERNE I TEEL RN,

NFIZwD AV ANt Ett
T571-8506 ARMFIEHAFFIE1006Ei
https://industry.panasonic.com/
<FAT I\ REAGEREO >
TEL : 0120-394-205
RS . FHOIR~128, 130~ 178F

(EB®mB. FRFH. SHREEZR<)
Panasonic Industry Co., Ltd. 2024

2024F4ABFHT PRINTED IN JAPAN



